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(BASED ON SCHOOL BOOK)
Switzerland is an example of
a. Aristocracy b. Theocracy
c. Direct Democracy d. Indirect Democracy
Falll_FTeonhg| 5& QH TBHSHHIBHBTLL TG
a. 2 _uwirGlouim’ & b. wa@mworTseier oy
c. Gmyg dhsem d. wewBpsE HHeNTL S

Consider the following Statements and choose correct option
I. In India, Prime Minister is Head of State.

II. Government refers to executive functions of state.

a. I only is true b. I only is true

c. Both I and II are true d. None is correct

LNeiteu(phd aBmiseiley Fllwnearenssd CHTHOSHG.

I. BhHuwreled, 1ITHWE) SFF6ET SHEMeLAITTEUTT

II. opsmsD edeLs DTl CFuIed HiemmLl LenIHN6T 266 dbdlUISHTELWD
a.l ' @G af b.II w' @G &
c. I wmmpp 1T & d. egie)fevenso

Consider the following statements.

1. VVPAT was made indispensable by Supreme Court Judgement in
Subramanya Swamy vs Election Commission of India case.

2. VVPAT was introduced all over country in sixteenth Lok Sabha
elections (2014)

Correct statements are

a. One only b. Two only

c. Both One and Two d. None of the above

LNeiTeU(HLD SnBBIBENeNS H(HFHIH:

1. sauldgweniw  gGeumll eaHT @bHw BCHTHed Spemewiul eaupsdHed VVPAT
SOGH  HATHS  (PQUTH  SIDFOTS 2 _FFHHWB  HTled 2o |
QauIwrul (HeiTerngl.

2. 16 ouzg wazenemeudh Caiidevdet (2014) e VVPAT sgeg  Spswm

(PMWEHGD DIBPSUILGSHSLILILL .
gflwmenr SnMBmIH6TT6M60T

a.1 (B b.2 L {Hb
c.1 wBmpb 2 L Gb d. GBIl agHia|bleoemev
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Consider the following statements.

1. Election commission can register and deregister a political party.

2. Party recognised as a state party in four states is recognised as a
national Party.

Correct statements are

a. One only b. Two only

c. Both One and Two d. None of the above

LNITU(HLD SnBBIHENeNS  H(HHIH.

. @ opfwed sl dumeargd CHTHe SMIWLSIHT0 UHe| () HHSD
E&FuIuwILILL_60MID.

2. 4 wiplevmiseriled OBV S FAUWITS DMSHTID OUBBIETEN @ S FUITed)
Cxrflwsd s Fwnes mSHNHHILGLD

a. 1wl (b b. 2 1o Bib C. ®yewi(BLD d. gaiafedemev

Consider following statement

Assertion (A): Leader of opposition plays a significant role to play in
Indian Parliamentary System.

Reason (R): He is Chairman of Public Accounts Committee, selects
Chairman of Central Vigilance Commission, Information Commission.

a. (A) alone is correct and (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A).

c. (A) and (R) are in correct

d. (A) and (R) are correct but (R) is not correct explanation.

LNeITQU(HLD FnBBIBENNES H(HFHIH:

GBo (A) :©  @hHull  UTTEBLeEB  (wepuldd  aFlTdbald  Heneveur
USNWITRISH (WSHBHWLILIKIG IS SHBSI.

aryewid (R): BeauT QUTHIS SMEHGHS GHULal6T HMeLAITHAD HHW el
SLEMEUTULILD  LOBEILD  HHU  HHEUD  EMEILSHR  HeMevalTHmend CaHiTey
QauILITTHAD 2 _6ITeTIT.

a. (A) wiew M, R) seaum

b. (A) wBp (R) sf wipiw (R) eewugs (A) er sflwmer elendsom@Ld

c. (A) wipib (R) s

d. (A) wspd (R) af eyemed (R) ereiug gflwmer alendsos060

Choose correct statements
L First general elections to Loksabha was held between 1950 and 1951.
II. ~ 26% January is celebrated as Both voters day and Republic day in

country.
III. India holds indirect elections also.
a. I and II are correct b. II and III are correct
c. IT only d. Il only

gflwrenr sBoiIsenen CaiTey OFUlIs.
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L. 1950 mmd 1951 &E BLuled WHEHeTmaIDHE (PHeUTaIE GLITHIS
BxThH6e0&61  HemL GILIBMET.
II. ®miiyed el 26 Sueid GWTSE Helb WLBBID UTHHTENT  HeToTdd

CaTewiLmLLLBSBSI.
III. @haHwur wopwssdh CHTHOHMEMUD BL SHHIBBSH.
a.l wppid II sflwmereney b. Il w@pid I sfwmrerensu
c. Il wr@w d. III ' @Gw

Which of the following are characteristics of Indian democracy?
L. Universal Adult Franchise.

II.  People Exercise Decision making power directly.

III. ~ Absence of Discrimination on certain grounds.

IV. Largest democratic country in the world

a. I only b. L, I1I, IV only

c. I and III only d. All the above
LeiTau(hHeueTauBmIeT @bhSHUl MebTLSSHH 6 DIDFRIGH6T 616n6u?
L. ouwigl aubBaHmT eumd@flemin

II. wéser GHIuITs (1PIYLCMIBHGID DHBTTHHED 2 666t
III. flev @M L aleusTymiseaied LTGUTIQEETND KeVa|&maEl.
IV. 2 60880Cw 8auflw wesetm & Bl

a.l w @b b. LIIL IV 1w G

c. II wmgib I wr G d. smearsHHib

Consider the following statements and choose correct ones.

L. Democracy is derived from Greek words DEMOS meaning people
and CRATIA meaning power.

II.  Democracy means head of state is elected.

III. Republic was coined in Rome, From Latin word ‘res publica’
meaning public matter.

IV. Republic denotes doctrine of popular sovereignty where people
posses decision making power.

a. I and II only b. Il and IV only

c. I and III only d. IIl and IV only

Neiteupld gnmmiseiled gflwmerensdd CaHiHoHMH:

I. DEMOS - wéser wppid CRATIA — oi@smyb  ererl  QUIT(HEHML U
EE X QUMTSHemSHH6N6V(HHS D& HETL_ & 6TEmILD O FTELEOTEITSI
CaibOHBHSHSUILIL L F|.

II. wéssenm Fuled Sfler HemsvaugmetelT BaiThO\%H BB ILIBHMITT.

II. @uurs emib GFTeveumergk GImbd BT Qe eaugalmEEILIT L. "Res
Publica" eianid e et GQomfs Gamevelent GQUTHenmargl QTG aleusbmyb
STRTLISHTSLD.
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IV. ouurs eaaiugl wwéHseflld o wWrsHamypeTen SenlILT@GD &kiE LDdHoH6N
WWROBEGID DHBTTHH M6 OFUIOLIHSH SIS HIMBEUIT.

a.l wppd II wl @b b. Il wBmid IV wl G

cl wipd I w’ @b d. IIT w@mid IV o1 Gid

Consider the following statements

Assertion (A): India has indirect democracy.

Reason (R): People exercise decision making power indirectly through

elected representatives.

a. (A) alone is correct (R) is incorrect.

b. (A) and (R) are correct and (R) is correct explanation of (A)

c. (A) and (R) are incorrect

d. (A) and (R) are correct and (R) is not correct explanation of (A)

LNeiTeU(HLD SnBBISENeNS H(HHIS.

&BB (A) : @bFHwraled MBS WHHEMT S HlevadBsl

asryewild (R): w&s6T HHB6ET DHBMIHMNS LOBUPHLOTE  BHTHOHBHSHBLILIL L
LHrgmgleen cpeold GlEUIeOLIBH S SIS IBETT.

(A) wipw s, R) seaum

(A oppd R) af, (R) eeug (A)er sflwrer alenéson@Ld

.(A) o R) seum

(A) wppd (R) &f wopd (R) easug (At sflwmer alemdsossn

N o

A

The parliament house in India was designed by

a. Le Corbusier and Albert Mayer

b. Edwin Lutyens and Herbert Baker

c. Matthew Nowicki and Thomas Munro

d. Ludwig Mies and Frank Wright.

@hHW UTTTEHLOGTHE DIENEUWITETH WTJTT60 6UIQ6UenLDESBLILIL L S|
a. &5 &muedwim oBoid ueoLlyl GuouwliT

b. e alar el lguiaierd WOBEID CamTuT’. GusIT

c. wrswe GCohrald oB@ID HTwed weT@pm

d. e els erd wBmd Lgmsis eyl

Consider the following statements and choose correct options.

L. Members of Loksabha are indirectly elected.

II. Members of Rajyasabha are elected by Electoral College consisting
elected members of legislative assemblies of states.

a. I only is correct b. IT only

c. BothTand II d. None of the above

elteumd gmppiseiev Fflwnaremsd CHiTmhosb:

1. &HeNened © MILILNITH6T LDenB(PHLOTSS GCHTHOHHHHL LB 6ITB60NT.
APPOLO STUDY CENTRE PH: D44-24333436, 428675353, 9840226187




12.

13.

14.

15.

9 | Page

2. wMplev  FULIGIBREIGST  CHTHOsbBHHIUL L 2 mlilelimseT S migu
GxpiTeyd @M cweold JrRwl Fenll o mINenTaeT CaiThoeBaHSLILBEIB6TT.

a.lw @G &M b. II wi_@Gib

c. lwpmd II yewi@id d. ermiadevensv

Kudavolai system was followed by

a. Cheras b. Cholas c. Pandyas d. Pallavas
&L Couremev  (LpemBUITEIIS] 6L  LNeTUmBMLILL L G
a. Gayitmei b. Gsmpiraseir C. UTGmIQUITE6IT d. uebeveuTHeIT

In democracy final authority rests with

a. Parliament b. People

c. Council of ministers d. President

&HHNTL Fulled BmIFH DIHSTTLOTIH BLIb 2 6ieng|
a. UMJm@pLo6sTBLD b. a6l

C. DIMOFFTHEMGIT  Djene d. ;emaug)

Consider the following

Assertion (A) : India has Parliamentary form of democracy.

Reason (R) : Indian Parliament comprise two houses.

a. Both (A) and (R) are true and (R) explains (A)

b. Both (A) and (R) are true and (R) does not explain (A)

c. (A)istrue (R) is false

d. (A) is false and (R) is true

LeiauneueaiolBens oiulsb

BB (A) : @hHwmaled LTITEHLOGIE LHHMTL & (LEOBUTEIH [Hl6veySBS.
aryewid (R): @bgHul LMITEHOETBLIOTRIS B[H DiDalHmend OBTem(HeTeTg.
a. (A) wppidb (R) sl Goeidb (R) eteiig (A) —ei1 allensbasLon@Ld

b. (A) wpmpi> (R) asflwmerensy Guweud (R) ereimuig (A)est allendasLosven

c. (A)sfl R) saum

d. (A) seup wpmpw (R) sflwrers

Consider the following statements.

1. Meaning of Franchise denotes right to elect.

2. Universal adult franchise creates legal equality.
Choose wrong statements.

a. One only b. Two only

c. Both One and Two d. None of the above

LNeITeU(HLD SnBBISENeNS H(HHIH.

1. aurs@flemn ereiugl GHitey GFLILINLGLD 2 Memwamwd GHBlEHBSH.

2. aawg aupbCaHTT aumdh@Gfend FLUL FSHHMUHMSD © (HeUTHGHIH B
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SHUBTR FmMBuIBHmeNsd BCHiTs.
a. 1 @ b. 2 @B
c. 1 oBmib 2 Brewi( d. egleyleveney

The President of India can nominate.

1. Two Anglo Indian to Lok Sabha.

2. Twelve Anglo Indians to Lok Sabha.

3. Twelve Anglo Indians to Rajyasabha.

4. Twelve members to Rajyasabha.

Choose correct statements.

a. One only b. Three and Four only
c. One and Two only d. One and Four only
OhHw emHuHuimed BudssLILbHea

1. 1&Henemaldh@ 2 SRISCT EHEHUITHEN

2. 1D&HeNeMaUSHE 12 HmISGeoT @HIHUITHEN

3. gTRw FeusG 12 mSGeor BhaIWITHern

4. JTRW FUHEG 12 2 mINelTEel

a.1l wl @ b.3 wBmid 4 wl G
c.1 wBmb 2 B d.1 wBmib 4 wi G0

is one of five basic principles of democracy in India.

a. Communism b. Communalism

c. Secularism d. lliteracy

OhFHW WEOBTUSSH ST 5 DlQLILE OCBTeTenSH6IN0 6B
a. GuITEIe L 6mLD b. eu@liyeunsib

C. W FFieTento d. eipsHsnieieento

Electoral college of President consists of

L. elected members of both houses of Parliament

II.  elected members of state legislative assemblies and union territories.
III. nominated members of both houses of Parliament.

IV. Nominated members of state legislative assemblies and union

territories.
a. l and III only b.landIIonly c.III, Illonly d. All the above
GLWISSH Hmevauamdh BFTe OFUILD eUTSHSTENT G (LeUTETS
L. LITITEHLoeTs &m iewauuler GHiTey QEFuiuiiul L o i leTaer
II. wmev &lLwemd (1) welwer LCshsmiselear Gxitey Gauiwl L
o LI NeuTHeiT

III. ummenpwss Bmm Simeluiler muiwer o mIllerTaer

IV. omphlev gL wesid (1) weiwer LyCsamiseier Bluwwer o mIilerTse
a. [Logmpp III wi G b. Topgid 1T w1 Gid

c. L II, III o (b d. smearsHsib
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Consider the following statements

Assertion (A) : Pressure groups originated in USA and are different from

Political Parties.

Reason (R) : They do not try to capture political power or contest election.

a. Both (A) and (R) are true and R is correct explanation

b. Both (A) and (R) are true and R is not correct explanation

c. Aistrue, R is false.

d. A isfalse, R is true.

LNITU(HLD SnBBIHENeNS  H(HHIH.

&Bp (A): opdfwed sl dsalledmbs DWHHE GREH6T (SI6RSEETATIE
Gxpmesiwensy) GCeumiLI(h a6t

snyenid (R): oimeusel opduisd idsmsmas aliuBBCar (o) BxTsHedsd

Gum’uiL Geur  (LpemeaTer d5606M6L.

a. (A) wppd (R) sf Gwed (R) eteiiugy gflwimer aflendasomngLd

b. (A) wBpid (R) &fl Gwsd (R) ereiiugy Fflwmer afemdasiosdso

c. (A s R) seupreig

d. (A) seum, (R) sflwmerg)

Election Commission is a

I. Independent Body [I. Permanent Body

I1I. Statutory Body IV. Constitutional Body
Choose correct statement

a.lonly b.landIlonly c.I Il and Il only d. I, I and IV only
CaTH6L &LeMEMIWILOTEISHI (T

[. &a3bhAT SEOrILTEGLWD II. Heweowimen SieMLOLILITELD

III. slLyfeu oemwiimgd IV, opdluieoeniolinler Liguimer SenolILITELD
a. [l @ b. 1 wmpp I w Gb

c. I, IT ompud IIT wd Hid d.L II wsmw IV o @G

Which is not function of political party?
a. Parties conduct election.

b. Parties put forward policies

c. Parties contest election

d. Parties shape public opinion

OIFwed s Fulledr LiewluweLeoTSHH 61517

a. &L 8361 BxTHemev BHL SRS 6IBe.

b. &l fl@6T OEBTTMBHEMGT (LPGITEN6LEH ) GHTN360T.

C. sl dlme1 Bxirgpeded GumlipuilBalermer.

d. sl d@em QUTHIS HHBHIHME AUIQYEUMLDS S GHTN360T.

State parties are also known as
a. Indian parties b. Provincial Parties

APPOLO STUDY CENTRE PH: D44-24333436, 428675353, 9840226187
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c. Regional Parties d. National Parties

LOTHIEVE &Ll &6l oTImILD  SIMIWLILILIBESBT360T.
a. @hHw &L Hsper b. wrarewt &L dbel
c. Upmpdw sl Sl d. Cadlwu & Hpei

What are merits of direct elections.

a. Itis less expensive

b. It is more suited to larger countries.

c. It ensures lower violence and corruption.

d. It makes representative more accountable to people.

Gwrd BxiTmHevmeiled FMLILEHeT Wmeneu?

Bmel GmBHH ClFeve L ULienal

WsLOufw BTHHEHDHE LWOSaD 6JiLENL U6l

GOBHS DIETANGVTET AUT(LPENBHET LOBMILD 26TPELSH6IT

W&HHEHHG FHS CUTBILIDLMD aumuihs S LITHHSHEMmen  aULpmIEGH S Iment
(o) WwWaaEHHG Wsad giwmear lenaleoTel LITHHH ST 6L 61360,

Aan o

Which of the following is not one of three components of political party?
a. Leader b. Active Member

c. Follower d. Electoral Funding

Leau(heoteuBmIeT SFFluled &L Fulledt 3 FmmISEHeT QT DIGLEVTHH! 61517

a. HEMELAIT b. GFuied o min et

C. OFmewrLiT d. Gzximed HF eumBMLO

Match the following

A. Britain 1. Parliament

B. Germany 2. Knesset

C. Israel 3. Diet

D. Japan 4. Bundes tag
A B C D

a. 1 2 3 4

b. 1 3 2 4

C. 1 4 2 3

d 1 4 3 2

QUTHSHHIB

A, OfC s 1. unTedOLDesT

B. Omfioent 2. Q@6lemeroL

C. ®e0Gy6v 3. Lwl

D. eglwimest 4. UBOHeOL TS
A B C D

a 1 2 3 4

b. 1 3 2 4

C. 1 4 2 3

APPOLO STUDY CENTRE PH: D44-24333436, 428675353, 9840226187
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d 1 4 3 2

Consider the following statements

L. The term ‘republic” was first coined in 500 BCE in Rome

II.  Itis derived from a Latin word ‘res publica’

Choose the correct statements

a. I only b. IT only c.BothIandII  d. None of these

gflwrenr smBoiIeenet CxiTey OCFUIS

L. QUT.&L.(1p.5008LD et Ggmb BTG  (WPHeT  (PHeJed  ‘GlQuIrs’
(Republic) eignib Q&med 6UIQeUMDEBLILL L G

II. @&0gm60 ‘res publica’ eaib edHeEr GoTHsF  CFTLNI(HHS

CuEBLILL L G|.
a.l ' @w b.II wl Gw
c.] wpmib I @yewiid d. ergiadevensv

Which of the following is not a federal feature of the Indian Constitution?
a. Single Constitution b. Written Constitution

c. Independent judiciary d. Bicameralism

LeiTaumaueiauBmieT o1&k SbhHw  SFwevemliiesr gl LTl g (1pewm  SIDFID
SI60607

a. @memB IFFuIeVmLOLIL] b. eupsiiu’ L fluievenioli]

C. GHHATOTRT [HFHBHImn d. Byewip Semeu oy S

Unitary form of government is in

a. US.A b. Canada c. Brazil  d. England
6bd BT 1960 PMeDW L & (pewB SIF&H 2 _6iteng)?
a. MEIW OWNHs BTHHENT b. seim  c. WGrFed d. BHSevnhal

Which of the following is not type of urban local body?

a. Town panchayat b. zila parishad

c. municipality d. corporation

LeleumeteuBmIen HaJ 2 6iTenml & SIenDLILNeT 6UemEBUIe0eOTHSI 61517
a. Y LehFTWHSI b. 2feveor ufags

C. BaIT.& d. wmpsym

Which of following is not a characteristic feature of parliamentary form of
government?
a. Harmony Between Legislature and Executive
b. Responsible Government
c. Stable Government
d. Majority Party Rule
LeiTeu(heueieuBmIeT LTTTE@HLOGD (LB SFFTRISSSH SIDF00TSHS 61517
a. FLLSHIMDB LOBHID CFwWeTsssd SHiems el Guiwimer E)emnTs b anev
b. QuTmIILITeT S FTHIGLD
APPOLO STUDY CENTRE PH: D44-24333436, 42867453, 9840226187
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C. HlMEOWITET SIFFTHRISLD
d. GQugpburetend @I Huflesr ot &

Choose the incorrect pair

1. Primary Consumers - Zebra

2. Secondary consumers - crocodile

3. Tertiary consumers - owl

4. Autotrophs - Bacteria

a.1,2 b. 3, 4 c. 2 only d. 4 only

SHEUBTENT EeneuTenUls &HIT6IISH

1. (WPpaHe0pHlenev HISTCTT - eufld@demy
2. @yewiLmbblensy HISTETT - (Lp&Henev
3. cpeIBTDBHleney HISTCTT - SuHenS
4. F@gnmy em’'L o ulfl — urdlefwr

a.1,2 b.3,4 Cc.2 wl (B d. 4 wl @b

An ecological region that has lost more than of its original habitat
is considered a

a. 70%, hotspot b. 70%, Biosphere reserve

c. 60%, hotspot d. 60%, Biosphere reserve

R Gwelwed LgGahasHdled GuevTs @fleNDd SFWIDTET  UTDAIL Hend

BbaIaGGLWTamed euaill b (Heuaiddled GsmeieniiLiL Geuemiigul)
B BHSLLBS B!

a. 70%, euenemwowmisenmas (Hotspot) b. 70%, o ulitéGBsmen smiiusD

c. 60%, euenemwwmisents (Hotspot) d. 60%, o ufiteBsmen &miLssLD
Tropical Savanna biomes are found between latitudes.

a.10° to 20° E and W b.10° to 20° N and S

c.20°to 30° N and S d. 20° to 30° E and W

Geaulil 16w 6V Feumedtm LIeOeIUlTd OFHTGHa) DI FHIBEHHG SenL Gl
ST LGS MBS

a. 10° to 20° s wimd Gojag b, 10° to 20° eu wBmd Cges

c. 20° to 30° au oBmId CgHest d. 20° to 30° Hwsag wBpId GCoBE

Which of the following statements is /are correct about desert biomes?

1. Found on the western margins of the continents between 20° and 30° N
and S latitudes.

2. The annual rainfall is less than 50 cm in these regions.

3. These regions do not possess any vegetation but have special vegetation
type called Xerophytes.

a.1,2 b.1,3 c. 2 only d. All of these
LITeneuauedl Lisbeuitd OHT&Hd uBfw gflwmer sEBml / FmBoiseer Hewi_fs

APPOLO STUDY CENTRE PH: D44-24333436, 428675353, 9840226187
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1. @UueouiTHosTEd 20° pdHed  30° eI, et O FHIBEHHIemL Gl
STEILILI(HE5 631360

2. BmE LB FYma wenpliOumfley 50  OF.5&GD  GmBUTS
STILILBHS BSI.

3. @RGsH STauTmder SfHTe euenTdlaiper. SdUImID BmGd STenilL{BLD
SHONHBHIQUD AUTUIHS SHTEUTRIGHET LITEN6VAIHBHTOUTRIGBET 6160t LB 6ITN360T.

a. 1, 2 b. 1, 3 C. 2 W (W d. @ma ESIHHID

Match the following

A. Prairies 1. Eurasia

B. Steppes 2. South Africa

C. Pampas 3. New Zealand

D. Veld 4. North America

E. Centerburg 5. Argentina and Uruguay
A B C D E

a. 4 1 5 3 2

b. 1 2 3 4 5

C. 5 3 4 1 2

d 4 1 5 2 3

QUTHSHHIH

A, Gu 1. wGradluwim

B. e0GLL1T 2. Oxeermiiifaesm

C. umbuimerd 3. purdleonbgl

D. Geueol_ 4. L &|6wfésm

E. Gseiriuimd 5. OITOMewIgeTT WBBID 2 (H&HG6
A B C D\ E

a. 4 1 5 3 2

b. 1 2 3 4 5

C. 5 3 4 1 2

d 4 1 5 2 3

Consider the following

Assertion (A): Heterotrophs do not produce their own food.

Reason (R): They depend on autotrophs for their nourishment

a. Both assertion (A) and reason(R) are true; R explains A

b. Both assertion(A) and reason(R) are true; R does not explain A

c. Aistrue; Ris false

d. Both A and R are false

LTeiTau(hHeueTeUBensB LIS

aBm (A): Upgeniy em't o ulflsel shiser o awmey SHTESCT HWITTSHHIS
Ol TeITeNTS)

snyenid (R): e’ | Fgs5dBare e 2 BuUSHWLTNTSMENS FTTHHI EHSELD
a. &aBol LBEBID STFewd @Jewi(Bd &M, STJeNID SaBeds alendEaH Bl

APPOLO STUDY CENTRE PH: D44-24333436, 428675353, 9840226187
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b. gBum wBpID &Tyewid Syevihd Ffl, HTFERID gFmBens elendaale0emeD
C. gm@mm g, SMyewild Heuml
d. By BB STyeDd @JeuiGl Heum)

Match the following
A. World Wild Life Day 1. March 3
B. International Day of Forest 2. March 21
C. World Water Day 3. March 22
D. Earth Day 4. April 22
E. World Environment Day 5.June 5

A B C D E
a. 1 3 4 5 2
b. 1 2 3 4 5
C. 5 4 3 2 1
d 4 3 2 1 5
QUT(HSHHIH
A. 2 & suaialevmid Heurd 1. & 3
B. s1aBss s1{H®eT Hend 2. g 21
C. 2 03 BT FHeld 3. womrg 22
D. gyl SHembd 4. gliged 22
E. 2 v sBmisF@Ewed sHebd 5. egee1 5

A B C 9 B E
a. 1 3 4 5 2
b. 1 2 3 4 5
C. 5 4 3 2 1
d 4 3 2 1 5

is a system of interlocking and inderdependent food chains.
a. Food chain b. Food web
c. Trophic level d. Ecosystem
o auie)F FHBHIH6T QAIBTOWTED  Fihgl, Leneuidbalul L SIeNLDLIL]
aTTILBSBSH

a. 2_eauie] FhidHe) b. o _awiey almev
C. SLBM6L DL LD d. FBBIFGL0 SenoliL]

United Nations Conference on Environment and Development (UNCED)
was held in in 1992.

a. Rio de Janeiro b. Paris c. Geneva d. Stockholm
MeF U BTBHMNET SFMBIFGGH60 OBBID aIeTES  OTHTH 860 1992811D
WG HenLCLBBSI.

a. MGwmr 19 GmefGyr b, umfled c. Gefeur d. enoLrsGammid

Choose the correct statements
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1. Different countries of the world conduct census every 5 to 10 years as
recommended by the United Nations.
2. The first known census was undertaken by the Babylonians in 3800 BC

(BCE).
3. InIndia, the first census was carried out in the year 1872.
a.1,2,3 b.2,3 c.1,4 d. None of these

gflwrenr FBoisenet BCziTw

1. mabaw pTGHeT gFouulesr ufibglenyuleiiy o sodler ULLGCm HTHSH6IT
aloeumm 5 oevevd 10 YemIbBEHHE  QRUH(PMMB  LDHHTO0HTNS
Henib0BBLImL  GLoBOETeT 636

2. umiGeumefled &lap (OUT.&L.P) 380060 2 _60H@ (IPH60  LDSHHETOHTNSH
S6ILIOBBLIL BLHSHSI.

3. @bFHwmaled (1pHe0  DHFHTOHTeND HewibOHBBUL  &H.19.1872810  L6ewi(h
BLbHSHS-

a.1,2,3 b.2,3 c.1,4 d. @meu ggidevensew

Which was the first country in the modern world to conduct a census?

a. Sweden b. France c. Denmarkd. Austria

Boial © 60&Hl6D LDEHATOHTEND HewIHOBBLIML (LPHED  (PFHeVled BLSHFHW  BTH
61&1?

a. FaiLei b. Uymesterd c. GLanomé d. syerdr Mwim

The dominant explanation for black death is attributed to the outbreak of

a. Poli b. Chickenpox c. Malaria d. Plague
Neiteu(pld 61bd Cpmul smIIg gT6| DImPSBILGBSBSHI?
a. GumedGuir b. sl L1benio C. wBeurflwim d. \Gens

Choose the correct statement

1. The World Population Day is observed on 11th July every year.

2. The United Nations Development Programme started celebrating this
event from the year 1991.

a. 1 only b. 2 only c. both1and 2 d. None of these

gllwmer FnBenm HewiLMBls

l. 2 o0& W&EFHNMOHTHS FHald  uwIGCHTHYID  sPemev 1l Cx )
SIaIFNESILBH MBS

2. @m&HW BThseNer auenTFd HL oy Bend 19919b LB (LPFHeD
CBTEWILMY  UHB MBS,

a. 1 w @b b. 2 @b C. 1 wimb 2 @yewGhd  d. @eneu

G HILOELEMEL

Density of population refers to

a. Population Density = Total Population / Total land area
b. Population Density = Total land area / Total Population
c. Population Density = Total population x Total land area
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d. Population Density = Total land area x Total population
&6 DILTHS 6L

a. HBHET ILTHH = GCTHSH WEHETOHTMD / GIoTHd MHeOLILITLIL]
b. &x6T SILTHSH = Qorhs Heoliugly / CrsHsd oHH6TEBTmD
C. ID&HOT DI THFH = OOTHSH EHHATOHTNS X GIOTHSH HleolIIFUIL
d. wEseT QILTHH = OWTHH HeOlLFliy X GIoTHs WEHEHTOHTMD

India has an official population policy implemented in

a. 1951 b. 1952 c. 1953 d. 1954

Bbhalul S|y &FeoT SIFHBMTLILLTEULDT 6O LD BHETOSHTEND O®TelTens
BHEDL (LPEDBLILGSHSLILL L. Hi601(H

a. 1951 b. 1952 c. 1953 d. 1954

Find out the incorrect pair

1. Primary activities - mining
2. Secondary activities - automobile manufacturing
3. Tertiary activities - banking
4. Quaternary activities - scientists and policy makers
5. Quinary activities - consultation
a.1,2,5 b.4,5c. 3,5 d.1,3
SHEUBTET Eenerienuld SBTeIs
1. (wFHeLpemevd GCHTLHeOSH6T - SBIGm6T Galllg 61(HHFH60
2. ByewiLmbblenevd OHTHe0H6N - AUTHRT 2 _MUSHFH CFHTIHBFTENEOSH6N
3. pAIBTDHlenes OHTIHEOSH6I - QUMISH6IT
4. BTAISTIDHIEN6VS OHTH60H6T - Sslaluled DI EHTH6IT LOBMILD
DT FTRISH HE 60T
O®meTenadH6M60 (1PI96)] 6TIHLILIGITHEIT
5. MbBIHTDOHMEVSH CHTLHE0H6N - BeUTFMENT  AULDMIEGHFH6D
a.1,2,5 b.4,5c. 3,5 d.1,3

Choose the correct statements

1. Japan is in a very active seismic area and it has the densest seismic
network in the world.

2. Indonesia is in a very active seismic zone

a.1only b. 2 only c.bothland2 d.none of these

glwmer FaBoIBenen HewiL1®

1. sliumest (pUPUGHID HevbBHES UGHHUlL DidWhHBHeTNH. BFH 2 608606wW
s 9IFHd SILTHHWTer Hevhbhdd LGHHemens 6HTemiheTendl.

2. @bCxHTCaFAWT 9IFHs HevhBESL LIGHBenensd BT (HeiTeng

a. 1 @ b. 2 w G c. 1 wBp 2 d. @mer gaINevm6L

Which of the following statement has the Risk Reduction measures for
cyclone?

L Ignore rumors, stay calm don’t be panic.

II.  Keep your documents and valuables in water proof containers.
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III. Prepare an emergency kit’s with essential items for survival
IV.  Switch on all the electrical appliance
a.l, I and III are correct b.Iand II are correct c. IIIl and IV are correct

d. IV only correct e. Answer not known

CaThaHalul Beiten  6hd eauTdHwid Hueder Gurgl Ueumm Geuewmniguwl  Sjumul

GaxiTey GHemBLUIL HL 6VIQEHMHSH6N

I. CGComauwums ausbdHasmenubd, USBBHMBUILD HalTHH0 DIDOHBTHEA|LD

II. sdHuorer SLEIETHIGE6ETUILD WBBID 2 L HIDSHENENU|LD  SHeWIewlT  LISHTSH
OULLBSHHD LUHHTIOTH MEUHHA|LD

III. 2 ulit eump SeusFy 2 FHal U LSHMS SUTTHneoUND M6l HH (HHBAILD

IV. simansha 10admy Frieamiseier LO@EementlienUULD Hlewngdhs GaleuwLmib.

a. L, II wmwid I sfwrerene b. I wimid II sfwrerene

c. I ioppid IV gflwimerene d. IV '@ sflwrerg

e. allenL  OFflwaledenso

When you happen to see a fire break out, you will make a call to

a. 114 b. 112 c. 115 d. 118
SalusHdl gBUBLGUTSHI BHHIG6T SnDSHHBEI6ETIQUI  6T6uT
a. 114 b. 112 c. 115 d. 118

Choose the correct statements

1. A tsunami is a series of enormous ocean waves caused by earthquakes,
underwater landslides, volcanic eruptions or asteroids.

2. Tsunamis can travel 700-800 km per hour, with waves 20-30 meter high.

a. 1 only b. 2 only c.both1and 2 d. none of these

gllwrenr sBoiIsenen CaiTs

1. HevpBHeHsD, FLIGEG lguiled gmUBL HeoFaflay, erfiioensv Geugli] LOBMBID
GDIRIGaTeTH6eT BGUTSIBBBTEL gBUBL OHTLT GUHHISL VST DienevsEer
ST GUyemeLEHENTGLD.

2. oellliBuyensowimergl 20-30 WULT 2 wrsHHed ewild@ &EwomT 700 — 800
SHCeumb LT CousdHFled GFe060HEIQUISI

a. 1 ' @ b. 2 @b c. 1 By 2 d. @mea gaidedemev
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